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03 AlE 21| 2,799 2,816 A 17
OFXXMOSCHS)| SH(ZZMEH) (AL LHH)
S 4] 1,395
OFXXMOSCUHS)| SHH(ZGZMEH) (MU 22)
I=ANN:| 1,404
MEISAIKOIS(EX) 454,000 110,000 344,000
Fag 318,000
Al 136,000
401 AlEHIZL 2 0HY| 454,000 90,000 364,000
Fag 318,000
Al 136,000
01 Al&H| 450,616 89, 190 361,426
ONBESAIN KOS (AL &2)
64,000,000 *x99. 1% 63,424
Fag 45,000
Al 18,424
ONMESAXRIS(FTE LX)
390,000, 000& *99. 28% 387,192
Fag 273,000
Al 114,192
03 AlE 201 3,384 810 2,574
ONMESAXROS (ML £2) 576
OXE SAXNSOS (= =XI) 204 2,808
BHEH2HME NS 29 1,057,338 1,256, 104 N 198,766
= 49,000
== 14,700
Al 993,638
HE2ZME N EE 22 £ 229 1,057,338 1,256, 104 A 198,766
= 49,000
= 14,700
Al 993,638
BHEU2IME NS S MAI2 22 & 29 612,085 881,014 A 268,929
101 e1214| 63,578 175,189 A 111,611
04 J|12ZtHIZ22NEES 63,578 175,189 A 111,611
OFAIZ 22| o8 (HA1H) 21,444
ol ¢t 66,800 « 18 248! 16,567
FEEeH 66,800 1 x52! 3,474
. Feddd 66,800 *1.5%1H x14 1,403
OS=0lH tMZURIX o182 (2Y) 11,490
ol Gt 66,800& 2% 70 9,352
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SN S

MM MS[UMHISE 29
el MSOIZMEIDRE Bl ¥ 29 CEEEED
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
OHEHAMENNEE HIIAE B A 470
O4ag SEFLEZHI 1,050,000& 23] 2,100
O&AlZ AIE&&Hl RAX bl 10,000
OWMSHAMEDSE OEY, BT AZE
420,000& 128 5,040
03 S AIS H H| 90,000 90,000 0
OsY8 Mgzz)d 29 90,000
202 O B 27,600 25,200 2,400
01 2L Y] 1,200 1,200 0
OMSHAMEHNEHE 29 HIX0t2 1,200
02 MY 26,400 24,000 2,400
OHSEH2AMEINEE 22K
200,000& x11H *x12& 26,400
206 M= Hl 48,250 46,650 1,600
01 X2 bl 48,250 46,650 1,600
Adolzes 2 DeNFHLU 2 500
OgisgHd s 2 1,000
OxdH4 Hz 7Y 4,500& 100 450
OHHl MK, &, X I 8) ¢ 2,000
OUZ=Dl, XCIAD|, ELH S JIH 88 22 1,000
OFANGAES SIS ZCIH(Z2HME HI)
1,300,000& 244 31,200
OFAR 424 HIBE UM 7Y 2,000
OFAZ JHANLSE I 7 1,000
ODAMLE E2F HEH 7Y
17,000& *300 4 5,100
Oss Mz F¢ 200,000& x12& 2,400
OS=0l8 94200 ) ¢ 40,000& =404 1,600
401 Al HI L 2 0HHI 20,000 220,000 A 200,000
01 A& HI 20,000 218,560 A 198,560
OHSHAMEINEE A2 RAE 20,000
405 XtabF S| 1,500 0 1,500
01 AL 2B F SHI 1,500 0 1,500
OMsadz8I #¢ 1,500
HEHAMEBUNEE HEsTAd 22 £ 29 128,006 200,988 NT2,982
101 @121 58,496 74,328 N 15,832
04 J|I2ZtHZ2E2XNEE S 58,496 74,328 AN 15,832
OF A2 o8 21,444
oAt 66,8003 * 14 x248 16,567
FEE 66,800& * 1 52 3,474
sS4 66,800 *1.5%1H »14 1,403
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SN S

MM MS[UMHISE 29
Cel MEOIRMEDSE 2ol 2 29 (el:de)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
Oosgae oy 24,316
oAt 83,5003 1™ 208 17,368
o222 33,4003 1 %208 6,948
Oolx=&dg o2 141,510& x5 x3H »6 3| 12,736
201 Bt A H| 69,510 76,660 AT,150
01 At 22l b 29,160 36,460 A7,300
OARE2 & A EH F¢
1,000, 000& *13] 1,000
OFA & 283 7¢ 400,000 x12& 4,800
OA3X 424 (8ton) 15,000& *8ton*23| 240
OFLI| AX2(1TH) 50,000& 10~ 12& 600
Ogst2H| 3,000
OEZIotA a7 2 200,000& QA E 1,800
OMESSAAE Ol22 JIEZM =2 1,700
OMESAALE LAY 50,000& 1«90 4,500
OMESAAAE =2H| 50,000& *2H x90 9,000
OERY, 3§ ALY F=I 24|
10,000& x2H »52! 1,040
OLPGIHA (50kg/ &) 2! 85,000& *x8= 680
OMESAAL A 200,000 x4 3| 800
02 53294l 40,350 40,200 150
O&J|otE 2] =2 262,500& «12& 3,150
OdIIe=2 3,000,000& x12& 36,000
OHdleE 22 100,000& *12& 1,200
MEf2Z H2EX 22 & &9 133,050 137,222 N4 172
101 @121l 43,890 48,526 N4, 636
04 JI2ZtH 22 XNEE S 43,890 48,526 N4, 636
O dAze o2 16,234
oA 66,800 18 183 12,225
FE4 66,800& 1«39 2,606
s 66,800& x1H*14 x1.5 1,403
osdaed o2 24,316
oGt 83,5003 1¥ 208 17,368
o224 33,4003 19 208 6,948
OM=&g ol 66,800 *2H x5 x53] 3,340
201 Bt A H| 89, 160 88,696 464
01 At 22l bl 59,160 58,696 464
Oy ¢ 200,000 20 Ml E 4,000
OFA & 22838 ¢ 500,000& ~12& 6,000
OF£D| dx= 50,000& x70H 12& 4,200
OTV, 2lgu ol2a 300,000& ~12& 3,600
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SN S

MM MS[UMHISE 29
Cel MEOIRMEDSE 2ol 2 29 (el:de)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
obld ¢tz 30,000& *7CHx12& 2,520
O A 50,0003 *1H*x12 x12& 7,200
O=2H| 50,000& »2Hx 122 x12& 14,400
OE2Y, ZTHY HY =)} =Xy
10,0003 *1H»12 128 1,440
OEHHI(2IEE, 210 ) 2,500,000& *43| 10,000
Odet+=gH| 5,000
Oxz2AlE &¢dY 200,000& *43| 800
02 352494l 30,000 30,000 0
OdJIe=2 2,500,000& x12& 30,000
=00 Z2EEY 22 & 25 40,697 36,880 3,817
101 @121 22,577 19,580 2,997
04 JI2ZtH 22 XNHEE =+ 22,577 19,580 2,997
OLEHEH SO0=HMEH dx=2e
141, 5103 x2H 2L x23| 1,133
OFA 32 o8 21,444
2 66,8003 *1H 248 16,567
54 66,800& * 1 x52 3,474
sS4 66,8003 *1.5%1H x14 1,403
201 Bt H | 18,120 17,300 820
01 At 22l Yl 6,120 5,300 820
OFA & 2H2IEE ¢ 300,000& x12& 3,600
OLPGIIA (20kg/S) ¢ 35,000& x20= 700
Ogst=2H| 1,000
oMY I SHH SEFY 410& *2,0000H 820
02 35244l 12,000 12,000 0
OdIIe=2 1,000,000& x12& 12,000
BHE 2 BCOUIOIE LA (KNEF=EH) 143,500 0 143,500
= 49,000
T 14,700
Al 79,800
101 @121l 137,500 0 137,500
= 49,000
< 14,700
Al 73,800
04 JI2ZtH2Z2XNHEE =+ 137,500 0 137,500
OS2t 2CIUIoIE 2l dl(6Y) 137,500
= 49,000
& 14,700
Al 73,800
301 dEtE A= 1,200 0 1,200
09 HAIAH EA=S 1,200 0 1,200
OZCUUIOIE nNEEII BA42 1,200
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